-~ 8

-: htt[v)://farbe.l i.tu-berli nL.de/CES9/CES9LOONA.TXT /.PS -_
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

L* CIELAB lightness L*/L* CIELAB lightness L* CIELAB lightness L*/L* CIELAB lightness
u u
=0 L*gs2 LHIL* g5 2y L* normalize_d to the L*g5.2 L¥IL* g5 24 L* normalizegj to the —
D @ 150 $ [*=116(Y/Y,) % - 16 (v,=100, 1< Y<100)  [1a] 3 background lightnessL* , 150 3 background lightnessL* , Q
% @ L*= 116(Y/Y,) % - 16 (Y,=100, 1= Y<100)  [1b] © %
o
2.2 100,0 2,000 100,0 2,000 5=
8 3 100 2 2 2 100 2 2 K QJ Lg
- = 4 4 4 . =
. m 'l 'l 'l 'I (@) wn
= [ T R T w | o meoas e T -8
o= L[* =50, Y,=18 o —— [*4=50, Y,=18 b == [* =50, Y,=18 o — [*4=50, Y,=18 b e S =
=D .7 1 application ,* , application +* 1 application +* 1 application =a
30 8,9, . 1 rnNE 0,17g9° 1 1nee 8,9, .7 1 range 0,179¢" 1 range S
o = o 0.1 e” 10 'Y, =18100y o 0.1 e’ 10 1Y,=18100y o 0.1 e” 10 1Y,=18100y o 01 e’ 10 1Y,=18100y 3
5—8 - -1 0 1 2 logY - 1 0 1 2 logY -2 1 0 1 2 logY - -1 0 1 2 logY D N
3 < CES90-1A CES90-2A CES91-1A CES91-2A % O
g = AY CIE tristimulus value difference AY | |AY/AY, CIE tristimulus value difference AY CIE tristimulus value difference AY  |AY/AY, CIE tristimulus value difference c N
u u N
=) AyL*= 116(Y1Y,)° - 16 (Y,=100, 1< Y £ 100) [1c] Aviny, AYnormalized toAY,, AY Aviyy, AY normalized toAY,, 30
T o 64 dv=(@miey ()P 2c] 6 § L=116(v/v,)"* - 16 (¥,=100, 1= Y<100)  [1d] 6 6 R
=0 dy = a-(Y/v,)2> 3] dY = (3/116) (Y//Yn)Z/3 3 o
Q‘ = dy=b- (/)" [4q] dy= a'(Y/Yn);z [3d] g =
= a=0,557 b = 3,826 [5¢] dY =b-(Y/Y,) [4d] 1
g < 4 41 a=0557 ‘ b = 3,826 15d] 4 4 ~0
5 3,089 3,089 om
— (_‘R 2,586 ® 2,586 L4 wn
c = ’ .’ :’ 3 = ©
(=) 2T v,-18 d¥,=0,83, €Y/Y,)=0,045 i 2T Y,=18, dY,=083, (iY/Y,)=0,045 . 2T v,=18 dv,=0,83, BY/%)=0,045 4 21 Y,=18 dY,=083, (V/¥,)=0,045 i P
: 83, X . S , 83, ! . S E ho
a o Ioung:—orjoa rm:o,eeu ’application i I_og_[((iY_)/(gYE)]__O_, nL—O,Gf . application Ioung=—OiJ08 mu=0,66u "application » '_"Q_[(EY_)’@YE)]:O_' T‘:O;BE - = = 5¢ application Q_) r(|?|
=® || [t 050" = =% range 0,143 _ .25 rnge I |} pmeesee 0.150" = - =4 range 0,143 _ .25 range &
=0 o 0,1 = = =10 'Y,=18100y o 0,1 é_ - = ©10 ,Y,=18100y o 0,1 = = 10 'Y,=18100y o 0.1 é_ - = %10 ,Y,=18100y %)
S m - -1 0 1 2 log¥ - -1 0 1 2 logY -2 -1 0 1 2 logY - -1 0 1 2 logY ©) '“_3
Q CES90-3A CES90-4A CES91-3A CES91-4A 5 o
g g AYlY CIE Y sensitivity log [(AY/Y) / (AYIY),]  CIE Y sensitivity AYIY CIE Y sensitivity log [(AY/Y) / (AYIY),]  CIE Y sensitivity © =
=0 S=AYIY S/S,=(AYV)IAYTY), normalized to AY Y, S=AYIY S/ =(AYM)IAYIY), normalized to AY Y, E_ >
> M 03 L*= 116(Y/Y,) % - 16 (Yp=100, 1< Y < 100) [1e] 6 L*= 116(Y/Y,)® - 16 (Y,=100, 1< Y < 100) [1f] 03 6 :
= 8 dv/y = (3/116) Y, M3y [2e] dY/Y = (3/116) (YY) ?° 2f =
O ¢ dyry=cy¥® [3e] dyiy=cy * 31 x
=T 02 dviy=d-(viv,) e [4e] 4 aviv=d (Vi) (4] 02 4 Z
8 — ' €=0,120 d=0,824 [5€] ¢=0,120 d=0,824 [5] ’ -~
= 0
o= 0,120 2,640 0,120 2,640 )
: o1 [ Y . application 2 AN application o1 [ Y . application B iR application
= ' T e gAY EED, M dSE, ' T e Iogl(AYM(@Y0, M8,
= dY/Y=0,04 m;=-0,33 Sas | ool(dY/VA/(@VIYLI=0, m=—083 0,568 dY/¥=0,04 m;=-0,3 Tas OO AT T VO 0,568
& Vi-16 dY0.63, V20085 - o = 0020 Yoo16 Y2063, 6VIN)20045 15~ w V16 dY.20.63, V10038 o = 0025 Vo168 dy 0,63, GYIY)20045 1S~ u
o 00 0T 1 10 'v,=18180y o 01 1 10 ,Y,=181%0y 00 0“1 1 10 v, =180y o 01 1 10 ;Y,=18180y
@ C - -1 0 1 2 logY -2 -1 0 1 2 logY -2 -1 0 1 2 logY -2 -1 0 1 2 log¥ —
e CES90-5A CES90-6A CES91-5A CES91-6A C
> YIAY CIE Y-based contrast | |(Y/AY)/ (Y /AY,) CIE Y-based contrast YIAY CIE Y-based contrast  |(Y/AY) / (Y/AY,) CIE Y-based contrast ws]
o C,=YIAY s C/C=(YIAY)/(YIAY), Normalized to Y /AY, C,=YIAY C,/C =(YIAY)I(YIAY), NOrmalized to Y /AY,
@ 60 L*= 116(Y/Yp) ™~ 16 (¥,=100, 1< Y < 100) [1g] 3 L*= 116(Y/Y,)"® - 16 (¥,=100, 1= Y £100) [1h] 60 3 3
vidY= (31116 Y h [29] Yidy = (3/116) Y, 323 [2h] Q
YidY=e (YY) [3a] Yidy=e (Y/Yu)zz/3 [3h] oD
YidY=f-(Y/Yy) 38,64d] YidY = f-(YIY,) 4h] 38,6 =.
40 e = 833,048 f=5721613 @  [50] 2 e =833.048 b f=5721,613 1,’75Ii 5 40 2 2 1,’757 QL
L4 4 -
L*,=50, ¥,=18, dY,=0,83, {/dY,)=22 _« L*,=50, Y,=18 dY,=0,83, /dY,)=22  »* L*y=50, Y,;=18 d¥,=0,83, /d¥,)=22 _« L* =50, Y,=18, dY,=0,83, /dY,)=22  ,* o
3 log[(Y/dY)/((Y/dY)J=0, m=0,33  * log(Y/dv)=1, . R4 log[(Y/dY)/((Y/dY)J=0, m,=0,33  o* o
20 CIF St gy A g A e 20 : lpasnnbancennnnns L’ o
83 .+ * 1 application 0,378, -° ‘ : application 83 .- * 1 application 0,378 - * e : application (9]
’. - 1 range " - , range " - ' range " - , range 1
o 0,1 1 10 1Y,=18100y o 0,1 1 10 1Y,=18100y o 0,1 1 10 1Y,=18100y o 0.1 1 10 1Y,=18100y =
= -1 0 1 2 log¥ - -1 0 1 2 logY -2 -1 0 1 2 logY - -1 0 1 2 logY
CES90-7A CES90-8A CES91-7A CES91-8A
CES90-7N CES91-7N
TUB-test chart CES9; Calculated for the CIELAB colour-difference formula, see ISO/CIE 116
_ linear [lightnesd *, thresholdAY, sensitivityAY / Y,contrasty /AY,unnormalized and normalized] -
6 ¢ M Y o) T v 6




